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QUESTION 1

A colleague provides you with access to a folder that contains the following files:
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Sates.csv Bookl.twb Sates.hyper Export.mdb

Which He contains an extract?
A. Export mdb

B. Book1.twb

C. Sales.hyper

D. Sales.csv

Correct Answer: A

QUESTION 2

You have the Mowing two tables that contains data about the books in a library.

Table1
~ Book Title Book Author
Greal Expectatons Charles Dickens
Harry Polter and the
| Chamber of Secrets J. K. Rowing
To Kill a Mockingbird Harper Lee
| Don Quixote Miguel de Cervantes
Table2
Book Title Publication Year |
Greal Expectatons 1660
To Kill a Mockingbird 1060
Don Quixole 1615
Jane Eyre 1847

Both tables are incomplete so there are books missing from the tables.
You need to combine the tables. The solution must ensure that all the data is retained
Which type of join should you use?

A. Full outer join
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B. Right join
C. left join
D. Inner join

Correct Answer: D

QUESTION 3

You have the following line chart that shows the average sales by month.

fag Sales

Manth of Ordes Date [2019)

Which month had the biggest increase in swage sales compared to me previous month in 2019?
A. August

B. October

C. December

D. November

Correct Answer: B

QUESTION 4

You have the following tiled dashboard that has one sheet.
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You want to replace fit sheet with Sheet2. What should you do?

A. Right-click Sheet2 and select Add to Dashboard.

B. Select Sheets and click the Swap Sheet button next to Sheet2.

C. From the context menu of Sheet3. select Remove Dashboard item
D. Drag Sheet?2 to the dashboard.

E. From the context menu of Sheet3. select Deselect

Correct Answer: A

QUESTION 5

You have the following dataset in Microsoft Excel.
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4 A ] c o E .
1 Team®

2 Brussels', 5/%/201

3 Product ID |QA_score]  Date Price

4 if Known

s 1324 |Housebold] 99 |2om0s03]$ 1100
& 4070 Gargen Fo ) 020-08-01| § 12.99
7 758 Gargen 6 |0190301l5 3299
(] 741  |Household] T [201903-01]8 4259
9 5433 Garden 7 |200n00]5 799
10 67 Garden 54 |200903-00]85 10999
1 5656 Gardan s0 |2009-03-00(8 12378
12 1324 Garden &7 2071-05-03| § 2199
13 021-05-01] 5 TE.95
14 40m Garden n 01503015 569
5 788 Garden M |20n-0503l5 2289
18] 741 |Household] M [a01s0301]5 2299
17 4 Garden 6 |[201%0001]8% 10900
18 AS? Garden 4 [201%03-01]5 3400
19 565 Gatden 4 [20001-31]5 2300

20 ' This team warked out of London unti| moving 13 Burtsels in 4/2021

You are using interpreter to cleans the dataset. Data interpreter provides the following results.

4 A B I £ | D 1| E § FE |
1 TeamB

2 Brusselsl, 5/5/2021

3 et 1D QA_Score Date Price  Header
4 W Known  Header
3 1324 Household 9 2021-05-03 $11.00 Data
6 4070 Garden 74 20200801 51299 Data
7 788 Garden 66 2019-03-01 53299 Data
8 741 Household 71 2019-03-01 54259 Data

: 5433 Garden 78 2021-05-00 ST Data
10 67 Garden 4 2019-00-00 5109.9% Data
1 5636 Carden 50 2019-03-01 $120.78 Dats
12 1324 Garden 97 2011-05-03 52399 Data
13 20010503  $7899 Data
12 4070 Garden 71 2019-03-01 §56.99 Data
13 TBE Garden 74 2021-05-00 52189 Dala
16 741 Household M 20190301 $2299 Data
17, 5433 Garden 69 2019-00-01 $109.00 Data
18 A7 Garden 43 2019-00-01 $34.00 Data
19 5656 Garden 40 2019.01-31 $21.00 Data
20 1 This team worked out of London until moving 10 Burssels in 4/2021
-

How many rows of data will be ingested into Tableau as values?

A. 10
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B. 20
C. 17
D. 15

Correct Answer: C
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